Sk

g
Tl
>

1. ¥¥4
¥4 AL X b oV EERIRR B ZE S
JBA T HRBBESATHREII3 THSEL 15 (SBREMEEL

2. EBEAR
1) FEF4

2) BITHIRM

7% RLEE F T

191 HFE

AR

B & 64 9A1LH
£ o T 3H20H

3) wHwyI
ARSI, FALURT IS 50T

Th D,

4) FEHBNA
Hid: b ooV aEfaR G« 13K

b RN G HL O E R 2 HHY &35 3H

E sz TR R



= N R
H FIR =
¥4 | TALIURHIX b o R VRS HL RS E BOES
HH b > RVERE
THH - T - fER] A7 £ & KA OB ORR
ko rovERE = 18, 879, 400
NS i =X 18, 879, 400
(LT b o RLEERIRR R =X 18,879, 400 | (L& b o RV FEMIRRR
1 =X
EiS T 52V 928, 900
Him GREHED) =X 928, 900
frowe = 713,300 | fIA%
1 =
PRFT A 5 1R
BIFRHEREFT &1tk
1 A
DA = 88,400 | A [RIELHEKA
1 6]
WA E - X W&
1 [A]
NP S VERR = 127,200 | ZABARSRELTVERL
1 ¥5
B = 716, 792
PR = 716, 792
S Gk - = 124,792 | Jikte (SEEtE - &R
1 =
R e T #: 592,000 | E-RRAIERE
1 =
BB (£ OMFMER<) = 20, 525, 092
Z DA = 10, 666, 769
-1- E 2wy IR



FEH N

%lljll
I

k¥4 | TACIURHIX b o LRI R HI RS E BOES
H H Z DA
THH - T - fER] A7 ¥ & & % OB ORR
— R R = 1 16, 788, 139
SERSMRE 2y 1 47, 980, 000
— 2 —

E sz TR R



